

Wednesday 18:00

## De Griethse Poort

Lanes 1 - 6

### Team Standings

Place	Lane	#	Team Name	Points	Points	Team		Pins +	Scratch	High Scratch		High HDCP	
				Won	Lost	Avg	HDCP	HDCP	Pins	10	30	10	30
1	5	1	De Blauwtjes	157	103	407	175	35676	26638	551	1566	684	1965
2	3	5	The Pointers	143½	116½	437	155	35597	27107	602	1608	694	1884
3	6	2	Griethse Poort	138	120	441	152	35942	27929	575	1604	707	2000
4	4	6	De Mekkers	132	128	430	159	35698	26242	548	1439	702	1901
5	1	3	Puur Geluk	106	154	412	172	35049	25470	498	1394	648	1835
6	2	4	De Vrolijke Noot	103½	156½	349	216	34193	22600	495	1326	650	1791

### Review of Last Week's Bowling.....

Lanes	Team Name	HDCP -1-	HDCP -2-	HDCP -3-	HDCP Total	Last Wk WON		Team Name	HDCP -1-	HDCP -2-	HDCP -3-	HDCP Total	Last Wk WON
1-2	The Pointers	613	570	591	1774	5	<-->	Puur Geluk	608	607	608	1823	8
3-4	De Vrolijke Noot	582	557	557	1696	1½	<-->	De Blauwtjes	625	593	596	1814	11½
5-6	Griethse Poort	578	589	593	1760	4	<-->	De Mekkers	580	640	617	1837	9

### Lane Assignments

	1-2	3-4	5-6
Today	3-4	5-6	1-2
Next Week	2-3	6-1	4-5

### Team Rosters

ID #	Bowling Hand	Name	Avg	HDCP	Pins	Gms	To Raise Avg +1	To Drop Avg -1	-1-	-2-	-3-	Total	HDCP Total
<b>1 - De Blauwtjes</b>													
8		Jolanda Vermaak	bk116	72	0	0						0	0
7		Ineke Kock-wo	135	59	1623	12	417	401	143	150	127	420	600
10		Jack v. den Boorn-wo	156	44	938	6	475	465				0	0
9		Robert Vermaak-wo	161	41	1937	12	493	477	167	149	163	479	599
6		Nico Veraart-wo	169	35	2541	15	519	500	180	159	171	510	615
<b>2 - Griethse Poort</b>													
13		Kyra Nicolai-wo	bk143	53	0	0						0	0
11		Hans Visser-wo	148	50	2220	15	462	443	136	170	146	452	605
15		Selmar Veurink-wo	150	49	905	6	454	444				0	0
12		Onno van Tongeren-wo	157	44	2360	15	484	465	142	139	132	413	533
16		Rick de Klerck-wo	bk159	42	461	3	463	456				0	0
14		Huub van Leeuwen-wo	165	38	991	6	503	493	168	148	183	499	622
<b>3 - Puur Geluk</b>													
21		Eddy Vermaak	112	75	1355	12	340	324				0	0
37		Dennis Folman	148	50	892	6	449	439	111	184	149	444	600
18		Willem Boorsma-wo	bk152	47	416	3	418	411	147	141	128	416	557
19		Iris Schoenmakers-wo	154	46	1390	9	470	457				0	0
17		Theo Schoenmakers-wo	154	46	927	6	468	458				0	0
20		André van Huet	157	44	1413	9	483	470	202	134	183	519	666
<b>4 - De Vrolijke Noot</b>													
23		Matty Kroezen	108	78	1516	14	337	319	105	111	102	318	552
22		Tonnie Verfuurden	119	70	1438	12	362	346	147	104	102	353	563
24		Bruno Wegeling-wo	122	68	1469	12	376	360				0	0
26		Tim Graafland-wo	bk155	45	631	4	475	467				0	0
25		Wim Egging-wo	bk200	14	539	3	541	534	168	180	191	539	581
<b>5 - The Pointers</b>													
29		Amber Schoenmakers-wo	141	55	2117	15	439	420	164	122	137	423	588
28		Gerda Kaal-wo	142	54	2132	15	442	423	136	125	142	403	562
31		John Gieling-wo	bk154	46	0	0						0	0
27		Arnoud v. Spaandonk-wo	163	39	2455	15	497	478	165	175	164	504	624
1		Steven Bosman-wo	bk197	16	0	0						0	0
30		Tim Sanders-wo	bk209	7	0	0						0	0

ID #	Bowling		Avg HDCP		Pins Gms		To Raise	To Drop	-1-	-2-	-3-	Total	HDCP
	Hand	Name					Avg +1	Avg -1					Total
<b>6 - De Meekkers</b>													
35		Eugenia Eland	136	58	817	6	416	406				0	0
33		Jans van Vuren-wo	143	53	1720	12	440	424	168	157	147	472	643
34		Sandra de Waard	151	48	1817	12	463	447	130	184	165	479	629
32		Aggie Kaal	163	39	1957	12	503	487	138	155	161	454	565
36		Jolanda Dijkhuizen-wo	bk164	39	0	0						0	0

### Last Week's Top Scores

Scratch Game	496	De Meekkers	490	De Blauwtjes	465	The Pointers	
Scratch Series	1409	De Blauwtjes	1405	De Meekkers	1379	Puur Geluk	
Handicap Game	640	De Meekkers	625	De Blauwtjes	613	The Pointers	
Handicap Series	1837	De Meekkers	1823	Puur Geluk	1814	De Blauwtjes	
<b>Men</b>	Scratch Game	202	André van Huet	191	Wim Egging-wo	184	Dennis Folman
	Scratch Series	539	Wim Egging-wo	519	André van Huet	510	Nico Veraart-wo
	Handicap Game	248	André van Huet	236	Dennis Folman	224	Huub van Leeuwen-wo
	Handicap Series	657	André van Huet	624	Arnoud v. Spaandonk-wo	622	Huub van Leeuwen-wo
<b>Women</b>	Scratch Game	184	Sandra de Waard	168	Jans van Vuren-wo	164	Amber Schoenmakers-wo
	Scratch Series	479	Sandra de Waard	472	Jans van Vuren-wo	454	Aggie Kaal
	Handicap Game	234	Sandra de Waard	224	Jans van Vuren-wo	219	Ineke Kock-wo
	Handicap Series	640	Jans van Vuren-wo	629	Sandra de Waard	627	Ineke Kock-wo

### Season High Scores

Scratch Game	602	The Pointers	575	Griethse Poort	551	De Blauwtjes	
Scratch Series	1608	The Pointers	1604	Griethse Poort	1566	De Blauwtjes	
Handicap Game	707	Griethse Poort	702	De Meekkers	694	The Pointers	
Handicap Series	2000	Griethse Poort	1965	De Blauwtjes	1901	De Meekkers	
<b>Men</b>	Scratch Game	215	Onno van Tongeren-wo	213	Nico Veraart-wo	211	Arnoud v. Spaandonk-wo
	Scratch Series	576	Robert Vermaak-wo	564	Onno van Tongeren-wo	560	Arnoud v. Spaandonk-wo
	Handicap Game	260	Nico Veraart-wo	252	Onno van Tongeren-wo	235	Hans Visser-wo
	Handicap Series	681	Onno van Tongeren-wo	654	Arnoud v. Spaandonk-wo	648	Nico Veraart-wo
<b>Women</b>	Scratch Game	227	Sandra de Waard	203	Jans van Vuren-wo	198	Aggie Kaal
	Scratch Series	528	Sandra de Waard	526	Aggie Kaal	504	Iris Schoenmakers-wo
	Handicap Game	240	Ineke Kock-wo	239	Gerda Kaal-wo	234	Sandra de Waard
	Handicap Series	650	Ineke Kock-wo	640	Jans van Vuren-wo	629	Sandra de Waard

### Split 1 High Scores

Scratch Game	583	The Pointers	540	De Meekkers	525	Griethse Poort	
Scratch Series	1535	The Pointers	1420	Griethse Poort	1381	De Meekkers	
Handicap Game	702	De Meekkers	693	The Pointers	670	Griethse Poort	
Handicap Series	1867	De Meekkers	1865	The Pointers	1863	Griethse Poort	
<b>Men</b>	Scratch Game	245	Steven Bosman-wo	213	Nico Veraart-wo	212	Onno van Tongeren-wo
	Scratch Series	636	Steven Bosman-wo	548	Robert Vermaak-wo	529	Onno van Tongeren-wo
	Handicap Game	260	Nico Veraart-wo	235	Hans Visser-wo	220	Onno van Tongeren-wo
	Handicap Series	648	Nico Veraart-wo	614	Bruno Wegeling-wo	608	Selmar Veurink-wo
<b>Women</b>	Scratch Game	227	Sandra de Waard	186	Gerda Kaal-wo	179	Iris Schoenmakers-wo
	Scratch Series	528	Sandra de Waard	500	Aggie Kaal	488	Kyra Nicolai-wo
	Handicap Game	239	Gerda Kaal-wo	232	Kyra Nicolai-wo	230	Ineke Kock-wo
	Handicap Series	659	Kyra Nicolai-wo	650	Ineke Kock-wo	631	Jans van Vuren-wo

### Split 2 High Scores

Scratch Game	581	The Pointers	558	Griethse Poort	498	De Meekkers	
Scratch Series	1608	The Pointers	1499	Griethse Poort	1445	De Blauwtjes	
Handicap Game	652	De Meekkers	694	Griethse Poort	677	The Pointers	
Handicap Series	1907	Griethse Poort	1884	The Pointers	1841	De Meekkers	
<b>Men</b>	Scratch Game	247	Steven Bosman-wo	193	Nico Veraart-wo	210	Onno van Tongeren-wo
	Scratch Series	646	Steven Bosman-wo	560	Arnoud v. Spaandonk-wo	555	Onno van Tongeren-wo
	Handicap Game	262	Steven Bosman-wo	218	Nico Veraart-wo	252	Onno van Tongeren-wo
	Handicap Series	691	Steven Bosman-wo	681	Onno van Tongeren-wo	582	Nico Veraart-wo
<b>Women</b>	Scratch Game	179	Sandra de Waard	190	Aggie Kaal	169	Gerda Kaal-wo
	Scratch Series	464	Sandra de Waard	514	Aggie Kaal	504	Iris Schoenmakers-wo
	Handicap Game	0	Gerda Kaal-wo	0	Kyra Nicolai-wo	212	Ineke Kock-wo
	Handicap Series	0	Kyra Nicolai-wo	581	Ineke Kock-wo	639	Jans van Vuren-wo

### Split 3 High Scores

Scratch Game	602	The Pointers	575	Griethse Poort	548	De Mekkers	
Scratch Series	1542	The Pointers	1604	Griethse Poort	1409	De Blauwtjes	
Handicap Game	707	Griethse Poort	702	De Mekkers	694	The Pointers	
Handicap Series	2000	Griethse Poort	1901	De Mekkers	1825	The Pointers	
<b>Men</b>	Scratch Game	215	Onno van Tongeren-wo	192	Nico Veraart-wo	186	Arnoud v. Spaandonk-wo
	Scratch Series	564	Onno van Tongeren-wo	522	Arnoud v. Spaandonk-wo	520	Robert Vermaak-wo
	Handicap Game	219	Nico Veraart-wo	241	Onno van Tongeren-wo	232	André van Huet
	Handicap Series	635	Onno van Tongeren-wo	654	Arnoud v. Spaandonk-wo	637	Nico Veraart-wo
<b>Women</b>	Scratch Game	198	Sandra de Waard	203	Jans van Vuren-wo	198	Aggie Kaal
	Scratch Series	495	Sandra de Waard	516	Aggie Kaal	458	Iris Schoenmakers-wo
	Handicap Game	240	Ineke Kock-wo	208	Gerda Kaal-wo	0	Kyra Nicolai-wo
	Handicap Series	0	Kyra Nicolai-wo	635	Ineke Kock-wo	608	Jans van Vuren-wo

### High Match Points: Regular Team Members

#### Men Division 1: Division1

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
Nico Veraart-wo	2541	15	169	213	539	180	159	171	510
Arnoud v. Spaandonk-wo	2455	15	163	211	560	165	175	164	504
Onno van Tongeren-wo	2360	15	157	215	564	142	139	132	413
Robert Vermaak-wo	1937	12	161	202	576	167	149	163	479
Hans Visser-wo	2220	15	148	191	504	136	170	146	452
Tonnie Verfuurden	1438	12	119	156	416	147	104	102	353
Bruno Wegeling-wo	1469	12	122	178	442				0
Eddy Vermaak	1355	12	112	162	416				0
André van Huet	1413	9	157	202	520	202	134	183	519
Theo Schoenmakers-wo	927	6	154	199	527				0
Dennis Folman	892	6	148	210	528	111	184	149	444
Rick de Klerck-wo	461	3	bk159	213	544				0
Steven Bosman-wo	0	0	bk197	247	646				0
Jack v. den Boorn-wo	938	6	156	200	474				0
Huib van Leeuwen-wo	991	6	165	200	499	168	148	183	499
Wim Egging-wo	539	3	bk200	213	602	168	180	191	539
Selmar Veurink-wo	905	6	150	195	498				0
Willem Boorsma-wo	416	3	bk152	172	467	147	141	128	416
John Gieling-wo	0	0	bk154	223	516				0
Tim Graafland-wo	631	4	bk155	181	504				0
Tim Sanders-wo	0	0	bk209	0	0				0

#### Women Division 1: Division1

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
Jans van Vuren-wo	1720	12	143	203	472	168	157	147	472
Gerda Kaal-wo	2132	15	142	186	471	136	125	142	403
Aggie Kaal	1957	12	163	198	526	138	155	161	454
Sandra de Waard	1817	12	151	227	528	130	184	165	479
Ineke Kock-wo	1623	12	135	168	461	143	150	127	420
Amber Schoenmakers-wo	2117	15	141	177	462	164	122	137	423
Eugenia Eland	817	6	136	182	452				0
Iris Schoenmakers-wo	1390	9	154	185	504				0
Matty Kroezen	1516	14	108	159	367	105	111	102	318
Kyra Nicolai-wo	0	0	bk143	175	488				0
Jolanda Vermaak	0	0	bk116	133	232				0
Jolanda Dijkhuizen-wo	0	0	bk164	0	0				0

### Average List of Regular Team Members

#### Men Division 1: Division1

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
Wim Egging-wo	539	3	bk200	213	602	168	180	191	539
Nico Veraart-wo	2541	15	169	213	539	180	159	171	510
Huib van Leeuwen-wo	991	6	165	200	499	168	148	183	499
Arnoud v. Spaandonk-wo	2455	15	163	211	560	165	175	164	504
Robert Vermaak-wo	1937	12	161	202	576	167	149	163	479
Tim Graafland-wo	631	4	bk155	181	504				0
Onno van Tongeren-wo	2360	15	157	215	564	142	139	132	413
André van Huet	1413	9	157	202	520	202	134	183	519
Jack v. den Boorn-wo	938	6	156	200	474				0
Theo Schoenmakers-wo	927	6	154	199	527				0
Rick de Klerck-wo	461	3	bk159	213	544				0
Selmar Veurink-wo	905	6	150	195	498				0

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
Dennis Folman	892	6	148	210	528	111	<b>184</b>	<b>149</b>	444
Hans Visser-wo	2220	15	148	191	504	136	<b>170</b>	146	452
Willem Boorsma-wo	416	3	bk152	172	467	147	141	128	416
Bruno Wegeling-wo	1469	12	122	178	442				0
Tonnie Verfuurden	1438	12	119	156	416	<b>147</b>	104	102	353
Eddy Vermaak	1355	12	112	162	416				0
Steven Bosman-wo	0	0	bk197	247	646				0
Tim Sanders-wo	0	0	bk209	0	0				0
John Gieling-wo	0	0	bk154	223	516				0

 Women Division 1: Division 1

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
Aggie Kaal	1957	12	163	198	526	138	<b>155</b>	<b>161</b>	454
Iris Schoenmakers-wo	1390	9	154	185	504				0
Sandra de Waard	1817	12	151	227	528	130	<b>184</b>	165	479
Jans van Vuren-wo	1720	12	143	203	472	<b>168</b>	157	<b>147</b>	472
Gerda Kaal-wo	2132	15	142	186	471	136	125	142	403
Amber Schoenmakers-wo	2117	15	141	177	462	<b>164</b>	122	137	423
Eugenia Eland	817	6	136	182	452				0
Ineke Kock-wo	1623	12	135	168	461	<b>143</b>	<b>150</b>	<b>127</b>	420
Matty Kroezen	1516	14	108	159	367	105	111	102	318
Jolanda Vermaak	0	0	bk116	133	232				0
Kyra Nicolai-wo	0	0	bk143	175	488				0
Jolanda Dijkhuizen-wo	0	0	bk164	0	0				0